Quiz VI  General Chemistry [ Lcctur@ Fall 12 Dr.Hahn 20pts 11/8 R @am quiz #

Name ‘i<-@(/v Name

(print name) 4 (sign name)

Please show all work for full credit.

1. a. Give the electron configuration for the element Sn  using the 155, 2¢% ... nomenclature (4 pts)

st 2% L 804 B st v dY beg® 55% 4d® 5 6"

b. Give the valence electron configuration for the element using the same notation. (3 pts)
PR i
755 Op
c. Give the orbital diagram for the valence electrons of the element including showing the
electrons as up or down arrows. (3 pts) 4 1 .

Py S¢
95 ,
d. The bigger atomic size (atomic radius) is the element(circle one) (L1) or{(K (1 pt)

e. The bigger ionization energy is for the element (circle one}) @ or (Rb) (1 pt)
f. The more reactive element is (circle one) (Li} or@(l pt)
2. Inthe p subshell, there are i (give # in blank) orbitals. (2 pt)
Maximum number of electrons inthe p  subshell is (Q (give # in blank) (3 pts)

The s block of the periodic table consists of Group I8 Group [LA. (using the exact group
number in the periodic table handed out with this quiz) (2 pts)

Extra Credit: Give the Lewis Dot Structure for the molecule for which I have provided the formula and
frame by:

a. Give the total number of valence electrons for the molecule % O (1 pt)
51 2(6)+ 4+ 200 +7= 3
b. Complete fhe Lewis Dot Structure (If you need spac¢ for a trial structure, please use the back of

the page. You do not need to show the final structure in the space below just write in space
below that the structure is shown on the back.) Hint: Lewis Dot structure has one double
bond. Carbon cannot expand the octet. Formula for the Lewis Dot structure is: NO,CH,Cl
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Quiz VI  General Chemistry 1 Lecture@ Fall 12 Dr.Hahn 20pts 11/8 R am quiz #

Name m Name

(print name) d (sign name)

Please show all work for full credit.

1. a. Give the electron conﬁguratmn for the clement Xe using the 1s%, 2s* ... nomenclature (4 pts)

U, 2% 265 354 B0 bt ad! 4t 5 4d' op®

b. Give the valence electron conﬁguratlon for the element using the same notation. (3 pts)
2,
ssh 9pt
¢. Give the orbital diagram for the valence electrons of the element including showing the
electrons as up or down arrows. (3 pts) 4V Ak 4k

9
a4 f
55

d. The bigger atomic size (atomic radius) is the element(circle one) {(Li) or (Be) (1 pt)

e. The bigger ionization energy is for the element (circle one) (K) or (Ca)/ (1 pt)
f. The more reactive clement is (circle one) @ or {Li) (1 pt)
2. Inthe d subshell, there are i (give # in blank) orbitals. (2 pt)
Maximum number of electrons inthe d  subshell is [ 0 (give # in blank) (3 pts)
The p block of the periodic table consists of Group M to Groupﬂ'_/:‘r(using the exact group

number in the periodic table handed out with this quiz) (2 pts)

Extra Credit:  Give the Lewis Dot Structure for the molecule for which I have provided the formula and
frame by:

a. Give the total number of valence electrons for the molecule { ‘,? (1 pt)
VTt +6t)=13
b. Complete the Lewis Dot Structure (If you need space for a trial structure, please use the back of

the page. You do not need to show the final structure in the space below just write in space
below that the structure is shown on the back.) Hint: Lewis Dot structure has one double
bond. Carbon cannot expand octet. Formula for the Lewis Dot structure is: C1C O H (2 pts)
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Quiz VI General Chemistry 1 Lecture@Fall 12 Dr.Hahn 20pts 11/8 R am quiz #

Name ! < @/(d//)/ Name

(print name) (sign name)

Please show all work for full credit.

1. a. Give the electron configuration for the element Te using the 1s%, 2s* ... nomenclature (4 pts)
2901 900 12 6 > g [0, 6 o2 10~
b.  Give the valence electron configuration for gw element using the same notation. (3 pts)
55 7 ¢
c. Give the orbital diagram for the valence electrons of the element including showing the

electrons as up or down arrows. (3 pts) _j_[: _ﬂ_ _1_ 5 (f?
Al S5

d. The bigger atomic size (atomic tadius) is the element(circle one) (N) or{(P)} (1 pt)

e. The bigger ionization energy is for the element (circle one) @r (Ge) (1pt)
f. The more reactive element is (circle one) @or (Na) (1 pt)
2. Inthe f  subshell, there are L (give # in blank) orbitals. (2 pt)
Maximum number of electrons inthe f  subshell is / % (give # in blank) (3 pts)

The s block of the periodic table consists of Group M to Group M (using the exact group
number in the periodic table handed out with this quiz) (2 pts)

Extra Credit:  Give the Lewis Dot Structure for the molecule for which I have provided the formula and
frame by:

a Give the total number of valence electrons for the molecule % 0 (1 pt)
U5 ¢ 200 1 b 1h = 2 ,
b. Complete tHe Lewis Dot Structure (If you nieed space for a trial structure, please use the back of

the page. You do not need to show the final structure in the space below just write in space
below that the structure is shown on the back.) Hint: Lewis Dot structure has one double
bond. Carbon and Nitrogen cannot expand its octet. Formula for the Lewis Dot structure is:

JC(‘\GM\ o 0((’3\((2;? 7t :ﬁiﬁif}— 7o (5% 307
Lot I o L7 e A T I_=
— € SEructure | LQ«-— { L

lE Qs .
[ g \S,Ql

H —N—r(C— C1

lil!

—



Quiz VI  General Chemistry 1 Leeture@ Fall 12 Dr.Hahn 20pts 11/8 R am quiz #

Name m// Name

{(print name) J (sign name)

Please show all work for full credat.

1. a. Give the electron configuration for the element I using the 1s* 25 nomenclature (4 pts)

& 1 {0
5, 25k 265, %55 5 G55 hd 4t 554 #d OpT
b. Give the valence electron eonﬁguration for the element using the same notation. (3 pts)

¢. Give the orbital diagram for the valence elecg:ns of the element including showing the
electrons as up or down arrows. (3 pts) 11 1L j_’

5
1 d
5 3

d. The bigger atomic size (atomic radius) is the elemienit(circle one){ (N)or (F) (1 pt)

o

The bigger ionization energy is for the element (circle one) (P) or @1 pt)
f.  The more reactive element is (circle one) (Na) or (1 Pt
2. Inthe p subshell, there are _L (give # in blank) orbitals. (2 pt)
Maximum number of electrons in the p  subshell is @ (give # in blank) (3 pts)

The p block of the periodic table consists of Group I é to Group vijr p( . (using the exact
group number in the periodic table handed out with this quiz) (2 pts)

Extra Credit:  Give the Lewis Dot Structure for the molecule for which I have provided the formula and

frame by:
a. Give the total number of valence electrons for the molecule ZLIL (1 pt)
2Ws) +2(P+ 20) = 24
b. Complete the Lewis Dot Structure (If you need space for a trial structure, please use the back of

the page. You do not need to show the final structure in the space below just write in space
below that the structure is shown on the back.) Hint: Lewis Dot structure has one double
bond. Carbon cannot expand its octet. Formula for the Lewis Dot structure is: C;CLH, (2

B W I1x 2= 2¢




Quiz VI General Chemistry I Lecturef I\Fall 12 Dr. Hahn 20 pts 11/8 R\ 8:30 am  quiz #

Name

Name

(print name) (sign name)

Please show all work for full credit.

1. a. Give the electron configuration for the element Sn using the 1s%, 25 ... nomenclature (4 pts)
b.  Give the valence electron configuration for the element using the same notation. (3 pts)
¢. Give the orbital diagram for the valence electrons of the element including showing the
electrons as up or down arrows. (3 pts)

d. The bigger atomic size (atomic radius) is the element(circle one) (Li) or (K) (1 pt)
e. The bigger ionization energy is for the element (circle one) (Na) or (Rb) (1 pt)
f.  The more reactive element is (circle one) (Li) or (K) (1 pt)

2. Inthe p subshell, there are (give # in blank) orbitals. (2 pt)

Maximum number of electrons inthe p  subshell is (give # in blank) (3 pts)

The s block of the periodic table consists of Group to Group . (using the exact group

number in the periodic table handed out with this quiz) (2 pts)

Extra Credit:  Give the Lewis Dot Structure for the molecule for which I have provided the formula and

frame by:

a.

b.

Give the total number of valence electrons for the molecule (1 pt)

Complete the Lewis Dot Structure (If you need space for a trial structure, please use the back of
the page. You do not need to show the final structure in the space below just write in space
below that the structure is shown on the back.) Hint: Lewis Dot structure has one double
bond. Carbon cannot expand the octet. Formula for the Lewis Dot structure is: NO,CH:C1

(2 pts)



Quiz VI General Chemistry 1 Lecture@Fall 12 Dr.Hahn 20pis 11/8 am quiz #

Name Name
(print name) (sign name)

Piease show all work for full credit.

1. a. Give the electron configuration for the element Xe using the 1s%, 2s* ... nomenclature (4 pts)

b.  Give the valence electron configuration for the element using the same notation. (3 pts)

¢. Give the orbital diagram for the valence electrons of the element including showing the
electrons as up or down arrows. (3 pts)

d. The bigger atomic size (atomic radius) is the element{circle one)  (Li} or (Be) (1 pt)
e. The bigger ionization energy is for the element (circle one) (K) or {Ca) (1 pt)

f. The more reactive clement is (circle one) (Rb) or (Li) (1 pt)

2. Inthe d subshell, there are {give # in blank) orbitals. {2 pt)
Maximum number of electrons inthe d  subshell is (give # in blank) (3 pts)
The p block of the periodic table consists of Group to Group . {using the exact group

number in the periodic table handed out with this quiz) (2 pts)

Extra Credit: Give the Lewis Dot Structure for the molecule for which I have provided the formula and
frame by:

a. Give the total number of valence electrons for the molecule (1 pt)

b. Complete the Lewis Dot Structure (If you need space for a trial structure, please use the back of
the page. You do not need to show the final structure in the space below just write in space
below that the structure is shown on the back.) Hint: Lewis Dot structure has one double
bond. Carbon cannot expand octet. Formula for the Lewis Dot structure is: CLC O H (2 pts)

Cl C H



General Chemistry Lectureé}all 12 Dr.Hahn 20pts 11/8 am quiz #

Quiz VI
Name Name
(print name) (sign name)

Please show all work for full credit.

1. a. Give the electron configuration for the element Te using the 1s%, 287 ... nomenclature (4 pts)
b.  Give the valence electron configuration for the element using the same notation. (3 pts)
¢. Give the orbital diagram for the valence electrons of the element including showing the
electrons as up or down arrows. (3 pts)

d. The bigger atomic size (atomic radius) is the element(circle one) (N) or (P) (1 pt)
e. The bigger ionization energy is for the element (circle one) (C) or (Ge) (1 pt)
f. The more reactive element is (circle one) (K) or (Na) (1 pt)

2. Inthe f  subshell, there are (give # in blank) orbitals. (2 pt)

Maximum number of electrons in the £  subshell is (give # in blank) (3 pts)

The s block of the periodic table consists of Group to Group . (using the exact group

number in the periodic table handed out with this quiz) (2 pts)

Extra Credit: Give the Lewis Dot Structure for the molecule for which I have provided the formula and

frame by:

a.

b.

Give the total number of valence electrons for the molecule (1 pt)

Complete the Lewis Dot Structure (If you need space for a trial structure, please use the back of
the page. You do not need to show the final structure in the space below just write in space
below that the structure is shown on the back.) Hint: Lewis Dot structure has one double
bond. Carbon and Nitrogen cannot expand its octet. Formula for the Lewis Dot structure is:
HNCLCO (2 pts)

Cl



Quiz VI  General Chemistry 1 Lecture@F all 12 Dr. Hahn 20 pis 11/8 Ram quiz #

Name Name
(print name) (sign name)

Please show all work for full credit.

1. a. Give the electron configuration for the element 1 using the 1s%, 25 ... nomenclature (4 pts)

b.  Give the valence electron configuration for the element using the same notation. (3 pts)

¢. Give the orbital diagram for the valence electrons of the element including showing the
electrons as up or down arrows. (3 pts)

d. The bigger atomic size (atomic radius) is the element(circle one) (N) or (F) (1 pt)
e. The bigger ionization energy is for the element (circle one) (P) or (CD) (1 pt)

f. The more reactive element is (circle one) (Na) or (Rb) (1 pt)

2. Inthe p subshell, there are (give # in blank) orbitals. (2 pt)
Maximum number of electrons in the p  subshell is (give # in blank) (3 pts)
The p block of the periodic table consists of Group to Group . (using the exact

group number in the periodic table handed out with this quiz) (2 pts)

Extra Credit:  Give the Lewis Dot Structure for the molecule for which I have provided the formula and
frame by:

a. Give the total number of valence electrons for the molecule (1 pt)

b. Complete the Lewis Dot Structure (If you need space for a trial structure, please use the back of
the page. You do not need to show the final structure in the space below just write in space
below that the structure is shown on the back.) Hint: Lewis Dot structure has one double
bond. Carbon cannot expand its octet. Formula for the Lewis Dot structure is: Cz2CLH> (2

pts)

Cl H



